Algebra | Unif 8: Systems of Inequalities Notes

Vay 1 - Graphing Linear Me<ualities - Notes )

Learning Target: | can graph a linear inequality and determine if a coordinate point is a solution.

A linear inequality is similar to an equation as you learned before, but the equal sign is replaced with an
inequality symbol. A solution to aninequality is any ordered pair that makes the inequality true.

Ex. Tell whether the ordered pair is a solution to the inequality.
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A linear inequality describes a region of a coordinate plane called a half-plane. All the points in the shaded
region are solutions of the linear inequality. The boundary line is the line of the equation you graph.

Symbol Type of Line Shading
< Dashed Below boundary line
> Dashed Above boundary line
< Solid Below boundary line
2 Solid Above boundary line

Graphing Llinear Inequalities
Step 1: Solve the inequality for y (if necessary).

Step 2: Graph the boundary line using a solid line for < or 2 OR a dashed line for < or >.

Step 3:
If the inequality is > or 2, shade above the boundary line
If the inequality is < or £, shade below the boundary line

OR

Select a test point and substitute it into linear inequality.
e |f the test point gives you a true inequality, you shade the region where the test point is located.

o If the test point gives you a false inequality, you shade the region where the test point is NOT
located.
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Practice Graphing Lnear mesualities
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T‘ype of Line: %\3 Test Point:
Slope: - 2}5 Y-ini: (01 ﬂ

Shade: le()\l&

Ex. Graph the inequality:

a.3k+2y>6
-3 -3k > -3
Yy2>-3xtle (j' 02"(*5
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Type of Line: f)ﬂ\!d Test Point:

Slope:—a/a vant: (0,3)

Shade: (UD(W&

Ex. Graph the inequality:
b. 434 -3y>12
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Type of Line: %heO Test Point:

Slope: le Y-int: |'L”_
Shade: &\DW Bl
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